1. ¥B4
W4 AN 5 AR S IR VG SR sk B E R 3
AT T B ) EE T N
2. EBNE
1) FHEFEA 4 54 8H 7) LI FH IR
2) HHEHT4 BEIEEEBET AR 8) # X X
3) KEBES 23873162020009 9) I - B
4) XSy HARE (Ml L 2&1) OnEs 10) #atEHA 4T 54E 64
5) ZHEEK 11) HBLH—EH 0%
6) JEITHIM 185 H H &Ff1 54 8H29H 1 2) HALEHEHA S 54 8H
(447) E Hf 64 2H29H 1 3) HHhEHFH S 54 8H
(8 lmEE) = £ A A 14) niiEAEBR M
15) R M
BGE EHNE
3. TERHA
1) THEHE 2) H 3) Bo#Hy 4) FEA

r [ R il R



FRD+WQR =

EHL | S0 D S EUE SR B F R S E RS
H H TEREHE - BERREE
HH - TR - FHI - 5] Hir& BANL & B o] B2t SEEHE B
TERENE - RERREHE
= 1 16, 958, 848
JE A - AR A
= 1 16, 958, 848
F e V(g
= 1 325, 400
1 1 Y fi N 1 =
= 1 325, 400
He Al 7 SRR RHER
= 1 8,937, 800
BOR BAE M 2 5
= 1 2,908, 200
LV — N OfE HN 35
= 1 6, 029, 600
TH S R EE (B)
= 1 6, 839, 148
-1 - [E 73 PEHTE R



EZFdquFJQEH

EHL | S0 D S EUE SR B F R S E RS
HH TEREHE - BERREE
TEHH - IRE - fER - M50 Hir& HAAT P B BHE R SEEHE B
TE RS R EE (B) " 4B
(km) = (10 )1 6, 839, 148
W EERL
= 856, 500
AR H 5 5
= 856, 500
SIS ]
= 688, 410
g GHE - FHEER)
= 688, 410
A%
= 569, 450
o heooeE
= 569, 450
2N BR iR S AR
= 118, 960
-2 - [E 73 PEHTE R



FRD+WQR =

EHL | S0 D S EUE SR B F R S E RS
H H bS]
HH - TR - FHI - 5] Hir& BANL & B o] B2t SEEHE B
INBR B VR R 2 T &
k5% 1 118, 960
[R5
= 1 468, 946
(R
= 1 468, 946
ik AL I
= 1 260, 946
g (GREHE - ERE) W 8 &
= 1 260, 946
A S VR
= 1 208, 000
BT AR S ERC 2 HN 9 &
= 1 208, 000
EREFA (Z OB L)
= 1 18, 116, 204

3= Etszmes T EIT R



FRD+WQR =

EHL | S0 D S EUE SR B F R S E RS
H H & DAt Al
HH - TR - FHI - 5] Hir& BANL & B o] B2t SEEHE B

& OAth Al

= 1 9, 430, 836
— e B

= 1 14, 832, 960
SE M

= 1 42, 380, 000
THE B %8

= 1 4,238, 000
B S

= 1 46, 618, 000

-4 - [E 73 PEHTE R



\ = =5 AL 4 A 2023. 08
1 /j 5( W l‘jR 25 i A 2023. 08
— = 5 15 AR AR 1. 000-0000-0000-0000-0000-1-0 0
15 A Y
HHH T - Bk A HAL ok HAI R HES
F 1 VE( A 10 &
20 1 325, 400
325, 400
\ = =B- A6 4 A 2023. 08
1 /j 5? W A LHEERER 2023, 08
= I B AR 1. 000-0000-0000-0000-0000-1-0 0
2 5 BOR H AR
HHH T - Bk A HAL ok HAI B HES
BOR H AR N1l &
20 1 2, 908, 200

2,908, 200

Etszmes T EIT R



AL 4 A

2023. 08

yj( I: ‘| ER = B A 2023. 08
H = T AR 1. 000-0000-0000-0000-0000-1-0 0
35 i L — b O
THH LT - Bk A HAL Y HAT 4KA T 2
B/ — MO N 12 &
= 6, 029, 600
6, 029, 600

Etszmes T EIT R




HAAh 3 FH A A 2023. 08
AR A A 2023. 08
T AR 1. 000-0000-0000-0000-0000-1-0 0

s
iy
g%
I

4 = 8 AR EE (B)
THH LT - Bk A HAL Y HAT 4KA T 2
Al meoB s
(km) = (10 )1 963, 798
Tt s AT wN 14 5
(km) = (10 )1 390, 512
BT K N E A E Y FHE H 15 5
(km) = (10 )1 1,198,071
X K O E B ERK H 16 &
(km) =X (10 )1 1, 623, 982
WA T HE H 17 5
(km) =X (10 )1 1, 200, 315
HaAT ™ 18 &
(km) =X (10 )1 413, 737
W EER 2 19 &
(km) = (10 )1 1, 048, 733
6, 839, 148

3= Etszmes T EIT R



= = EA 4 A 2023. 08
N BESEAIE 202808
= — prem 57 5 AR R 1. 000-0000-0000-0000-0000-1-0 0
TH ——
HH & AKR
EEVER N o
k&2
- = 856, 500
5]
856, 500
= =h- HLfi i 4F A 2023. 08
o R == A A A 2023. 08
= — T AR 1. 000-0000-0000-0000-0000-1-0 0
TH ——
HH & AKR
M
- = 569, 450
5]
569, 450

Etszmes T EIT R




N = i Al 4F A 2023. 08
1 /k P ‘l :R i FAE 2023. 08
H = T AR 1. 000-0000-0000-0000-0000-1-0 0
75 INBH R R AR VR AR
THH LT - Bk A HAL Y HAT 4KA T 2
INBH R R AR VERR N 22 &
EY 1 118, 960
118, 960
= i HAAh 3 FH A A 2023. 08
:R A 4R A 2023. 08
H = T AR 1. 000-0000-0000-0000-0000-1-0 0
] 8 & ik (R LE - minE)
THH LT - Bk A HAL Y HAT AKR T 2
XYL
= 1 17,513, 160
ik (REF L - minE)
A F X0. 0149
= 1 260, 946
260, 946

Etszmes T EIT R



Al 4F A 2023. 08

AR A A 2023. 08
T AR 1. 000-0000-0000-0000-0000-1-0 0

s
iy
g%
I

9 = BT AR S TR
HH LT - Bk A HAL o HAT 4KA e
XYL
= 1 17,513, 160
CRADE S TNAD% ¢ T OO ER
5. IXEANE (F1) 0. 38
= 1 208, 000| (F-HAmEI Y #5C)
208, 000

Etszmes T EIT R



